Distributions to shareholders:

!'_ Dividends and share repurchases
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i What is dividend policy?

= The decision to pay out earnings versus

retaining and reinvesting them.

= High or low dividend payout?

= Stable or irregular dividends?

= Dividend payout ratio (BHE & &F : d)
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i Dividend irrelevance theory

= Investors are indifferent between dividends and
retention-generated capital gains.

= Modigliani and Miller('61), based on unrealistic assumptions
(no taxes or brokerage costs), hence may not be true.

= Investors can create their own dividend policy
= If they want cash, they can sell stock.
« If they don’t want cash, they can use dividends to buy

stock.
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Dividends vs. Capital Gains
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What's the “information content,”
i or “signaling,” hypothesis?

= Managers hate to cut dividends, so they
won't raise dividends unless they think
raise is sustainable. So, investors view
dividend increases as signals of
management’s view of the future.

= Therefore, a stock price increase at time
of a dividend increase could reflect
higher expectations for future EPS, not a
desire for dividends.
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i What's the “clientele effect”?

= Different groups of investors, or
clienteles, prefer different dividend
policies.

= Firm’s past dividend policy determines
its current clientele of investors.

= Clientele effects impede changing
dividend policy. => stabilizing the
dividend policy so as to avoid
disrupting their clienteles
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i The residual dividend model

= Find the retained earnings needed for the
capital budget and pay out any leftover
earnings (the residual) as dividends.

= Advantage
= Minimizes flotation and equity signaling
costs
= Disadvantages
» Results in variable dividends
= Doesn't appeal to any specific clientele.
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Factors influencing Dividend
Policy
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Stock dividends
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‘L Stock Repurchases
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Stock Repurchases
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Stock splits
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Reverse Stock splits
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